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Videos 30E:
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Why Alpha Decay:
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Whiteboards: 
 Find the energy of this Alpha Decay in MeV:
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Find the energy of this Alpha decay in MeV, Joules, and calculate the velocity of the particle given the mass of an alpha  particle is 6.64x10-27 kg
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Videos 30F:

[image: ]
image5.png
Tunneling - Energy is not conserved!
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Alpha Decay - Energy of alpha particle
1u=931.5MeV
He (neutral atom) = 4.002603 u
Calculating mass defect of alphadecay (5.414 MeV)
92-U-232 ->  90-Th-228 +  Alpha
232.037131 —>  228.028716 + 4.002603
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247 Bk -->243, Am + o
247.070300 --> 243.061373 +  4.002603
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M. Am —>MNp  + a
243.061373->239.052932 +  4.002603




